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ELECTROMAGNETICS 1 FINAL EXAM

Dr. Salih FADIL August 24, 2010

#1) Consider the figure as a spherical dielectric shell so that = g6, for a<r<b and ¢ =¢,
for 0<r<a.lfacharge @ is placed at the center of the shell, find

a) P fora<r<b
b} p,, for a<r<b

¢) p,, at r=gand r=>H. .

#2) Given that £ =(3x’ + y)d, + xa, kV /m, find the work done in moving a —2 uC charge
from (0,5,0) to (2,-1,0) by taking the path

2Y40,5.0) =2, 5:0) = (2,1, 0)

b) y=5-3x

#3) If D=(2y" +2)a, +4xya, +xa, C/m’, find:
a) the volume charge density at (1,0, 3)
b) the flux through the cube defined byO<x <1, 0<y <1, 0<z<1
¢) the total charge enclosed by the cube.
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